

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form-990-PF

Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

Do not enter social security numbers on this form as it may be made public.

OMB No 1545-0052

Department of the Treasury Internal Revenue Service

► Information about Form 990 PF and its separate instructions is at www.irs.gov/form990pf Open to Public Inspection

		endar year 2016 or tax year beginning		, 2016, and endin	9	, 20
N	lame	of foundation			A Employer identif	ication number
_(CAR	LSON MUSIC SCHOLARSHIP FUN	ס		48-	1276104
	Numb	er and street (or P O box number if mail is not delive	red to street address)	Room/suite	B Telephone numb	er (see instructions)
,	P . O	. BOX 30918			88	38-791-4075
_		town, state or province, country, and ZIP or foreign	postal code	· · · · · · · · · · · · · · · · · · ·		771 4073
	•	, , , , , , , , , , , , , , , , , , , ,			C If exemption applica	
]	BIL	LINGS, MT 59116			pending, check here	
_		ck all that apply: Initial return	Initial return of a	a former public charit	D 1 Foreign organizat	tions, check here
		Final return	Amended return	1	2 Foreign organizat	tions meeting the
		X Address change	Name change		85% test, check h	nere and attach
H	Che	ck type of organization: X Section 50	1(c)(3) exempt private four	ndation		
\prod	s	ection 4947(a)(1) nonexempt charitable trust	Other taxable privat	te foundation	E If private foundation under section 507(b	o)(1)(A), check here
1	Fair	market value of all assets at J Ac	counting method: X Cash	Accrual	1	in a 60-month termination
	end	of year (from Part II, col. (c), line	Other (specify)	_	1	o)(1)(B), check here .
	16)	▶\$ 631,961. (Part	I, column (d) must be on cash b	basis.)	—	<u></u>
P	art l	Analysis of Revenue and Expenses (7	he (a) Revenue and			(d) Disbursements
		total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in	expenses per	(b) Net investment income	(c) Adjusted net income	for charitable purposes
		column (a) (see instructions).)	books	liicome	income	(cash basis only)
П	1	Contributions, gifts, grants, etc., received (attach schedule)				
	2	Check X if the foundation is not required to attach Sch B				
ı	3	Interest on savings and temporary cash investment				}
	4	Dividends and interest from securities	. 16,041.	14,900.		
	5a	Gross rents				
	b	Net rental income or (loss)				
ان		Net gain or (loss) from sale of assets not on line 10	-209.			
Kevenue		Gross sales price for all assets on line 6a 163, 31			· · · · · · · · · · · · · · · · · · ·	
اچ	7	Capital gain net income (from Part IV, line 2)				
ř	8	Net short-term capital gain		, , , ,		
	9	Income modifications				
١	10a	Gross sales less returns and allowances				
	b	Less Cost of goods sold .				
1	С	Gross profit or (loss) (attach schedule)				
1	11	Other income (attach schedule)	315.			
	12	Total. Add lines 1 through 11	. 16,147.	14,900.		
	13	Compensation of officers, directors, trustees, etc.	7,357.	5,518.		1,83
S S	14	Other employee salaries and wages		NONE	NONE	
Š	15	Pension plans, employee benefits	•	NONE	<u>N</u> ONE	
윘	16a	Legal fees (attach schedule)				
비	b	Accounting fees (attach schedule) STMT. 1	. 948.	948.	NONE	NO
Administrative Expense	C	Other professional fees (attach schedule)	. []			
ē	17	Interest	. RECEIVED			
<u>s</u>	18	Taxes (attach schedule) (see instructions). 2	. 298	298.		
	19	Depreciation (attach schedule) and depletion	MAY 15 2017	SS		
9	20	Occupancy	. [1] "[7] 1 0 2017	9		
	21	Travel, conferences, and meetings		MONE NONE	NONE	
and	22	Printing and publications	UGUEN 15	NONE NONE	NONE	
宫	23	Other expenses (attach schedule) STMT. 3	. 2:	2.		
듦	24	Total operating and administrative expense				1
ē	23 24 25	Add lines 13 through 23		6,766.	NONE	
히	25	Contributions, gifts, grants paid			·	30,00
	26	Total expenses and disbursements. Add lines 24 and 2	5 38,605.	6,766.	NONE	31,83
	27	Subtract line 26 from line 12:				
		Excess of revenue over expenses and disbursements $\ \ .$			netification of	Nacho a u
		Net investment income (if negative, enter -0		8,134.	ानसः 🗆	1 -
J	C	Adjusted net income (if negative, enter -0-).	.1		ግዛድ ዓምም	1770

JSA For Paperwork Reduction Act Notice, see instructions.

FFP576 R25D 05/05/2017 09:07:25

- Form 990-PF (2016)

р	art II	Attached schedules and amounts in the description column should be for end-of-year	Beginning of year	End o	f year
_	al L 11	amounts only (See instructions)	(a) Book Value	(b) Book Value	(c) Fair Market Value
,	1	Cash - non-interest-bearing			
		Savings and temporary cash investments	28,283.		
	3	Accounts receivable			
		Less. allowance for doubtful accounts ▶			
		Pledges receivable ►			
		Less. allowance for doubtful accounts ▶		· · · · · · · · · · · · · · · · · · ·	
		Grants receivable		·	
		Receivables due from officers, directors, trustees, and other			
		disqualified persons (attach schedule) (see instructions)			
		Other notes and loans receivable (attach schedule)			
		Less: allowance for doubtful accounts ►NONE			
Assets	8	Inventories for sale or use			
SS		Prepaid expenses and deferred charges			
٨		Investments - U S and state government obligations (attach schedule)			
		Investments - corporate stock (attach schedule)	286,073.		
	11 ^C	Investments - corporate bonds (attach schedule)	280,267.		
	••	and equipment basis			
		Less accumulated depreciation (attach schedule)			
		Investments - mortgage loans			
		Investments - other (attach schedule)	26,452.	598,377.	631,961
		equipment, basis Less accumulated depreciation			
		(attach schedule)			
		Other assets (describe >)	1,988.		
		Total assets (to be completed by all filers - see the			
-		instructions. Also, see page 1, Item I)	623,063.	598,377.	631,961
		Accounts payable and accrued expenses			
ω,		Grants payable			
ţį.		Deferred revenue			
Ę		Loans from officers, directors, trustees, and other disqualified persons	•		
Liabilities		Mortgages and other notes payable (attach schedule)			
_	22	Other liabilities (describe			
	22	Total linkillation (and lines 17 Abraugh 22)		NONE	
\dashv		Total liabilities (add lines 17 through 22)		NONE	
S		Foundations that follow SFAS 117, check here . ▶ and complete lines 24 through 26 and lines 30 and 31.			
ces		_			
힐	24	Unrestricted			
a		Temporarily restricted			
밀		Permanently restricted		-	
Ē		Foundations that do not follow SFAS 117,			
히		check here and complete lines 27 through 31.	622 062	E00 277	
Net Assets or Fund Balan		Capital stock, trust principal, or current funds	623,063.	<u> </u>	
SS		Paid-in or capital surplus, or land, bldg, and equipment fund Retained earnings, accumulated income, endowment, or other funds			
Ä		Total net assets or fund balances (see instructions)	623,063.	598,377.	
를		Total liabilities and net assets/fund balances (see	023,003.	390,311.	
		instructions)	623,063.	598,377.	
Р		Analysis of Changes in Net Assets or Fund Bala			<u> </u>
		I net assets or fund balances at beginning of year - Part		must agree with	
		of-year figure reported on prior year's return)			623,063.
2		r amount from Part I, line 27a			-22,458.
					22,250.
		lines 1, 2, and 3			600,605.
5	Decr	eases not included in line 2 (itemize) ► SEE STAT	PEMENT 4	5	2,228.
		I net assets or fund balances at end of year (line 4 minus li			598,377.
					Form 990-PF (2016)

Part I	V Capital Gains	and Losses for Tax on Inve	estment Income			1 age O
		d describe the kind(s) of property sold (e		(b) How acquired	(c) Date acquired	(d) Date sold
		rick warehouse, or common stock, 200		P - Purchase D - Donation	(mo , day, yr)	(mo , day, yr)
1a Pl	JBLICLY TRADED	SECURITIES		D - Donalion		
b						· -
С						
d		·				
е						· <u>-</u>
	A Green asion name	(f) Depreciation allowed	(g) Cost or other basis		(h) Gain or (lo	ss)
	e) Gross sales price		(e) plus (f) minu			
а	163,314.		163,523.			-209.
b						
С						
d						
<u>e</u>						
C	omplete only for assets sh	nowing gain in column (h) and owned b	y the foundation on 12/31/69	(1)	Gains (Col. (h) ga	in minus
(i) E	M.V. as of 12/31/69	(j) Adjusted basis	(k) Excess of col. (i)		(k), but not less the	han -0-) or
	101.1. 03 01 12/31/03	as of 12/31/69	over col. (j), if any		Losses (from col	. (h))
<u>a</u>						-209.
<u>b</u>						
<u>d</u>						
<u>e</u>				т.		
2 Ca	apital gain net income	or (net capital loss)	in, also enter in Part I, line 7			
		(17 (10	oss), enter -0- in Part I, line 7	2	. <u> </u>	-209.
		ain or (loss) as defined in sections 1				
		art I, line 8, column (c) (see inst	1			
	art I, line 8			3		
Part V		nder Section 4940(e) for Redu private foundations subject to the				
Was the		the section 4942 tax on the distrib not qualify under section 4940(e). I		ase perio	d?	Yes X No
		nount in each column for each year		o anv en	tries.	
	(a)	(b)	(c)	. <u>.,,</u>	(d)	
Calendar	Base period years year (or tax year beginning in)	Adjusted qualifying distributions	Net value of noncharitable-use assets		Distribution ra (col (b) divided by	
	2015	35,010.	641,693.			0.054559
	2014	32,600.	667,859.			0.048813
	2013	31,396.	641,484.			0.048943
	2012	31,304.	622,359.			0.050299
	2011	31,347.	631,269.			0.049657
2 To	otal of line 1, column (d)		2		0.252271
3 A	verage distribution rati	o for the 5-year base period - divide	e the total on line 2 by 5, or by the			
nı	ımber of years the fou	ndation has been in existence if les	s than 5 years	3		0.050454
4 Er	nter the net value of no	oncharitable-use assets for 2016 from	om Part X, line 5	4		<u>607,002.</u>
5 M	ultiply line 4 by line 3.			5		<u>30,626.</u>
6 Er	nter 1% of net investme	ent income (1% of Part I, line 27b) .		6		81.
7 A	dd lines 5 and 6			7		<u>30,707.</u>
_	_					
8 <u>Er</u>	<u>ter-qu</u> alifying distribut	ions from Part XII, line 4		<u>8 </u>	TA .	31,839
IT Da	line 8-is equal to or g irt-VI-instructions.	greater than line 7, check the box			_	x rate. Seetthe
	ne vi-matructions.			المد البلاية ب	• :	

Par	Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 see in	structions)	
1a	Exempt operating foundations described in section 4940(d)(2), check here		
	Date of ruling or determination letter (attach copy of letter if necessary - see instructions)	-	
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check	81.	
	here X and enter 1% of Part I, line 27b		
c	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of		
	Part I, line 12, col (b)		
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-) 2		
3	Add lines 1 and 2	81	-
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-) 4	NON	
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0	81.	•
6	Credits/Payments:		
a	2016 estimated tax payments and 2015 overpayment credited to 2016 6a 516.		
b	Exempt foreign organizations - tax withheld at source		
C	Tax paid with application for extension of time to file (Form 8868) 6c NONE		
d	Backup withholding erroneously withheld	516	
7 8	Total credits and payments. Add lines 6a through 6d	210	÷
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed		-
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid.	435	-
11	Enter the amount of line 10 to be: Credited to 2017 estimated tax ► 84 . Refunded ► 11	351	-
Part	VII-A Statements Regarding Activities		÷
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it	Yes No	_
	participate or intervene in any political campaign?	1a)	
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see		
	Instructions for the definition)?	1b 2	X
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials		
	published or distributed by the foundation in connection with the activities.	نافي المنافقة المنافق	
C	Did the foundation file Form 1120-POL for this year?	1c 2	X
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:		が
	(1) On the foundation ►\$ (2) On foundation managers. ►\$		
е	Enter the reimbursement (If any) paid by the foundation during the year for political expenditure tax imposed		
2	on foundation managers. \$	2	Y
~	If "Yes," attach a detailed description of the activities.	·	
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of		*
	incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	1 1 1 -	X
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a 2	_
	If "Yes," has it filed a tax return on Form 990-T for this year?	4b	_
	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5	Χ
	If "Yes," attach the statement required by General Instruction T.	4 4 4 4	
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:	4	
	By language in the governing instrument, or		
	• By state legislation that effectively amends the governing instrument so that no mandatory directions that		
	conflict with the state law remain in the governing instrument?	6 X	_
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV	7 X	_
8a	Enter the states to which the foundation reports or with which it is registered (see instructions)	東京 - 東 東京	H
	MT	12.54 July 24	
	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General	A CAN CAN CAN CAN CAN CAN CAN CAN CAN CA	
	(or designate) of each state as required by General Instruction G? If "No," attach explanation	8b X	_
	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or		£
	4942(j)(5) for calendar year 2016 or the taxable year beginning in 2016 (see instructions for Part XIV)? If "Yes," complete Part XIV	9 2	X
			- 3
	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses	10 2	Χ
		orm 990-PF (2016	_
	•	•	-





Par	t VII-A Statements Regarding Activities (continued)			
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the		Yes	No
	meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11	1	Х
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified			
	person had advisory privileges? If "Yes," attach statement (see instructions)	12		Х
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	Х	
	Website address ► N/A			
14	The books are in care of ► FIRST INTERSTATE BANK Telephone no. ► (406) 454	-628	5	
	Located at ► 211 5TH ST N, GREAT FALLS, MT ZIP+4 ► 59401			
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here			
	and enter the amount of tax-exempt interest received or accrued during the year			
16	At any time during calendar year 2016, did the foundation have an interest in or a signature or other authority		Yes	No
	over a bank, securities, or other financial account in a foreign country?	16		X
	See the instructions for exceptions and filing requirements for FinCEN Form 114. If "Yes," enter the name of			
	the foreign country >			
Par	t VII-B Statements Regarding Activities for Which Form 4720 May Be Required			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a	During the year did the foundation (either directly or indirectly):]		
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? Yes X No			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a		Į.	
	disqualified person? Yes X No			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? Yes X No			
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person?			*
	(5) Transfer any income or assets to a disqualified person (or make any of either available for			
	the benefit or use of a disqualified person)? Yes X No			
	(6) Agree to pay money or property to a government official? (Exception. Check "No" if the			
	foundation agreed to make a grant to or to employ the official for a period after			
	termination of government service, if terminating within 90 days.)			
b	If any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations			
	section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b		<u>X</u>
	Organizations relying on a current notice regarding disaster assistance check here			
С	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that			7,
_	were not corrected before the first day of the tax year beginning in 2016?	1c		X
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private			
	operating foundation defined in section 4942(j)(3) or 4942(j)(5)):			
а	At the end of tax year 2016, did the foundation have any undistributed income (lines 6d and			
	6e, Part XIII) for tax year(s) beginning before 2016? Yes X No			
	If "Yes," list the years			
D	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2)			
	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to	2b		
	all years listed, answer "No" and attach statement - see instructions.)	20		
·				
32	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise			
50	at any time during the year?			
h	If "Yes," did it have excess business holdings in 2016 as a result of (1) any purchase by the foundation or			
	disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the			
	Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of			
	the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the			
	foundation had excess business holdings in 2016.)	3b		
4a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		X
	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its			اأر
	charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2016?	4b		Х
		rm 99	0-PF	

- JSA -

Par	VII-B Statements Regarding Activities for	or Which Form 4	720 May Be Req	uired (continúed)						
5a	During the year did the foundation pay or incur any amou	unt to.								
	(1) Carry on propaganda, or otherwise attempt to influen	ice legislation (sectio	n 4945(e))?	. Yes X No	.					
	(2) Influence the outcome of any specific public ele-	ction (see section 4	4955); or to carry or	ı,						
	directly or indirectly, any voter registration drive?									
	(3) Provide a grant to an individual for travel, study, or other similar purposes? Yes X No									
	(4) Provide a grant to an organization other than a charitable, etc., organization described in									
section 4945(d)(4)(A)? (see instructions)										
	(5) Provide for any purpose other than religious, ch	arıtable, scientific, l	literary, or educationa	l						
	purposes, or for the prevention of cruelty to children	or animals?		. Yes X No	,					
b	If any answer is "Yes" to 5a(1)-(5), did any of the	transactions fail to	qualify under the ex	xceptions described in	, }					
	Regulations section 53.4945 or in a current notice regard	ding disaster assistan	ce (see instructions)?		5b	<u> </u>				
	Organizations relying on a current notice regarding disast	ter assistance check	here							
C	If the answer is "Yes" to question 5a(4), does the	foundation claim e	xemption from the ta	ax	_					
	because it maintained expenditure responsibility for the g	grant?		. Yes No	,					
	If "Yes," attach the statement required by Regulations section	tion 53.4945-5(d).				į				
6a	Did the foundation, during the year, receive any fun	ds, directly or indir	ectly, to pay premiur	ns						
	on a personal benefit contract?			. Yes X No						
b	Did the foundation, during the year, pay premiums, direct			oct?	6b	Х				
	If "Yes" to 6b, file Form 8870.				3 /-	1 . [
7a	At any time during the tax year, was the foundation a par	ty to a prohibited tax	shelter transaction?.	. Yes X No	2 2 2	_				
b	If "Yes," did the foundation receive any proceeds or have	any net income attrib	outable to the transacti	on?	7b					
Par	Information About Officers, Director and Contractors	s, Trustees, Fou	indation Manager	s, Highly Paid Emp	oloyees,					
1	List all officers, directors, trustees, foundation ma	nagers and their	compensation (see	instructions).						
	(a) Name and address	(b) Title, and average hours per week	(c) Compensation (if not paid,	(d) Contributions to employee benefit plans	(e) Expense acc					
	- · · · · · · · · · · · · · · · · · · ·	devoted to position	enter -0-)	and deferred compensation	other allowan	ces				
	INTERSTATE BANK	TRUSTEE								
425 1	ST AVENUE NORTH, GREAT FALLS, MT 59401	5	7,357.	-0-		-0-				
	Compensation of five highest-paid employees "NONE."	(other than thos	e included on line	3 1 - see instruction	ons). If none,	enter				
		(b) Title, and average		(d) Contributions to						
(a)	Name and address of each employee paid more than \$50,000	hours per week devoted to position	(c) Compensation	employee benefit plans and deferred	(e) Expense acc other allowar					
		develop to position		compensation						
NON			NONE	NONE	NONI	,				
NON	<u> </u>		NONE	NONE	NON	<u>. </u>				
		-			 -					
										
Tat-1					37037	,				
otal	number of other employees paid over \$50,000	· · · · · · · · · · · · · · · · · · ·			NONT Form 990-PI					
					rorm JJU-FI	(2016)				

	Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Emploand Contractors (continued)	
3	Five highest-paid independent contractors for professional services (see instructions). If none, enter "NON	E."
	(a) Name and address of each person paid more than \$50,000 (b) Type of service	(c) Compensation
NON	E	NONE_
Total	I number of others receiving any CEO 000 for a facility live	NONE
	number of others receiving over \$50,000 for professional services	NONE
Par	IX-A Summary of Direct Charitable Activities	
	t the foundation's four largest direct charitable activities during the tax year include relevant statistical information such as the number of ganizations and other beneficiaries served, conferences convened, research papers produced, etc.	Expenses
1 N	ONE	
_		
_		
2		
3		
4_		
_		
	IX-B Summary of Program-Related Investments (see instructions)	
	scribe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2.	Amount
117	ONE	
2_		
_		
All	other program-related investments. See instructions	
	ONE	
21/	JIVE	
_		
Total	. Add lines 1 through 3	
		l

Form 990-PF (2016)

Part	-Minimum Investment Return (All domestic foundations must complete this part. Forei see instructions.)	gn foundati	ons,
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc.,		
	purposes:		
а	Average monthly fair market value of securities	1a	595,045.
b	Average of monthly cash balances	1b	21,201.
C	Fair market value of all other assets (see instructions)	1c	NO <u>NE</u>
d	Total (add lines 1a, b, and c)	1d	616,24 <u>6.</u>
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation)]	
2	Acquisition indebtedness applicable to line 1 assets	2	NONE
3	Subtract line 2 from line 1d	3	616,246.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see		
	instructions)	4	9,244.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	607,002.
6	Minimum investment return. Enter 5% of line 5	6	30,350.
Part	Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foun and certain foreign organizations check here ▶ and do not complete this part.)	dations	
1	Minimum investment return from Part X, line 6	1	30,350.
2a	Tax on investment income for 2016 from Part VI, line 5 2a 81.		
b	Income tax for 2016. (This does not include the tax from Part VI.) 2b		
С	Add lines 2a and 2b	2c	81.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	30,269.
4	Recoveries of amounts treated as qualifying distributions		NONE
5	Add lines 3 and 4	5	30,269.
6	Deduction from distributable amount (see instructions)	6	NONE
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII,		
	line 1	7	30,269.
Part	XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
а	Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a	31,839.
b	Program-related investments - total from Part IX-B	1b	
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,	1 1	
	purposes	2	NONE
3	Amounts set aside for specific charitable projects that satisfy the:		
а	Suitability test (prior IRS approval required)	3a	NONE
b	Cash distribution test (attach the required schedule)	3b	NONE
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	31,839.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income.		
	Enter 1% of Part I, line 27b (see instructions)	5	81.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	31,758.
	Note: The amount on line 6 will be used in Part V, column (b), in subsequent years when calculation qualifies for the section 4940(e) reduction of tax in those years.	lculating w	hether the foundation

Form **990-PF** (2016)

Pa	rt XIII Undistributed Income (see instr	uctions)			
1	Distributable amount for 2016 from Part XI.	(a) Corpus	(b) Years prior to 2015	(c) 2015	(d) 2016
•	` !	<u>.</u>	·		30,269.
_	line 7				30,203.
	Undistributed income, if any, as of the end of 2016			NONE	
	Enter amount for 2015 only		NONE	NONE	
	Total for prior years 20,20,20		NONE		
	Excess distributions carryover, if any, to 2016:				
	From 2011				
	From 2015	E 700	ļ		
	Total of lines 3a through e	5,798.			
4	Qualifying distributions for 2016 from Part XII,				
	line 4: ▶ \$ 31,839.		ŀ	NONE	
	Applied to 2015, but not more than line 2a			NONE	
b	Applied to undistributed income of prior years		NONE	ļ	
	(Election required - see instructions)		HOM		
C	Treated as distributions out of corpus (Election	NONE	ı		
	required - see instructions)	NONE			30,269.
	Applied to 2016 distributable amount	1,570.			30,203.
	Remaining amount distributed out of corpus	NONE		-	NONE
9	Excess distributions carryover applied to 2016 . (If an amount appears in column (d), the same	NOND			NONE
	amount must be shown in column (a).)				
6	Enter the net total of each column as		2 1		
	indicated below:	7,368.			a 1
	Corpus. Add lines 3f, 4c, and 4e. Subtract line 5	7,300.			
ь	Prior years' undistributed income. Subtract		NONE		Anny
	line 4b from line 2b		NONE		
·	income for which a notice of deficiency has				į.
	been issued, or on which the section 4942(a)		NONE		;
	tax has been previously assessed		NONE		
d	Subtract line 6c from line 6b. Taxable amount - see instructions		NONE		1
е	Undistributed income for 2015. Subtract line		HONE		1
	4a from line 2a. Taxable amount - see			NONE	
	instructions			1,01,12	
f	Undistributed income for 2016. Subtract lines				
	4d and 5 from line 1. This amount must be distributed in 2017			İ	NONE
_					1,0210
′	Amounts treated as distributions out of corpus to satisfy requirements imposed by section			İ	,
	170(b)(1)(F) or 4942(g)(3) (Election may be				
	required - see instructions)	NONE			
۰	Excess distributions carryover from 2011 not				
٥	applied on line 5 or line 7 (see instructions)	502			į
q	Excess distributions carryover to 2017.			· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·
•	Subtract lines 7 and 8 from line 6a	6,866			
10	Analysis of line 9:			İ	
	Excess from 2012 773 .			1	
	Excess from 2013 24.				
	Excess from 2014 548 .			1	
	Excess from 2015 3,951.				
	Excess from 2016 1,570.				

	990-PF (2016)	··· · · · · · · · · · · · · · · · · ·	 		<u> 1276104 </u>			Page 10
Pa	t XIV Private Op	erating Foundations	s (see instructions a	nd Part VII-A, ques	tion 9)		NOT	APPLICABL
1 a		received a ruling or o			erating			
		g is effective for 2016, en	•		▶∟			
Ь	Check box to indicate	whether the foundation	is a private operating	foundation described	ın section	4942(j)(3) or	4942(j)(5)
2a	Enter the lesser of the ad-	Tax year		Prior 3 years			_	(e) Total
	justed net income from Part		(b) 2015	(c) 2014	(d) 2	013	<u></u>	
	I or the minimum investment return from Part X for each	•						
	year listed	<u> </u>						
b	85% of line 2a				<u> </u>			
c	Qualifying distributions from Part							
	XII, line 4 for each year listed .						<u> </u>	
d	Amounts included in line 2c not used directly for active conduct	l .						
	of exempt activities						ļ	
е	Qualifying distributions made							
	directly for active conduct of exempt activities. Subtract line							
_	2d from line 2c					<u></u>		
3	Complete 3a, b, or c for the alternative test relied upon				1			
а	"Assets" alternative test - enter							
	(1) Value of all assets						<u> </u>	
	(2) Value of assets qualifying]	}				
	under section 4942(j)(3)(B)(i)							
b	"Endowment" alternative test-			•				
	enter 2/3 of minimum invest-							
	ment return shown in Part X, line 6 for each year listed							
C	"Support" alternative test - enter							
	(1) Total support other than							
	gross investment income (interest, dividends, rents,							
	payments on securities	I .	İ					
	loans (section 512(a)(5)), or royalties)							
	(2) Support from general						<u> </u>	
	public and 5 or more exempt organizations as	Ì	ł	•				
	provided in section 4942				1			
	(j)(3)(B)(iii)				1		1	
	port from an exempt organization			•				
	(4) Gross investment income.				-		<u> </u>	
Par	t XV Supplemen	ntary Information (C	Complete this part	only if the found	ation had \$	5.000 o	r more	in assets at
		uring the year - see				.,		
1	Information Regarding	Foundation Manager	rs:		,			
а	List any managers of	the foundation who h	have contributed mor	e than 2% of the to	tal contributi	ons receiv	ed by t	he foundation
	before the close of any	tax year (but only if th	ney have contributed i	nore than \$5,000). (See section 5	i07(d)(2).)	•	
	N/A							
b	List any managers of	the foundation who	own 10% or more o	f the stock of a cor	poration (or	an equall	y large	portion of the
	ownership of a partner	ship or other entity) of	f which the foundatior	n has a 10% or greate	er interest.	•		
	N/A							
2	Information Regarding	Contribution, Grant,	Gift, Loan, Scholarsh	p, etc., Programs:				• • •
	Check here ► X if t	he foundation only	makes contributions	to preselected cha	ritable orga	nizations a	and doe	s not accept
	unsolicited requests to	or funds. It the found	ation makes gifts, gra	ants, etc. (see instru	ctions) to in	dividuals o	or organ	izations under
	other conditions, comp	olete items 2a, b, c, an	d d.				•	
а	The name, address, an	d telephone number o	or e-mail address of the	person to whom ap	plications sh	ould be ad	dressed:	
þ	The form in which app	lications should be sub	bmitted and information	on and materials they	should inclu	de:		
С	Any submission deadli	nes:				_		
	Ann maniations - "			- i. ·		11 1 2		
a	Any restrictions or li factors:	mitations on awards,	, sucn as by geogr	apnicai areas, chari	table tields,	kinds of	ınstituti	ons, or other

Part XV Supplementary Information (continued) 3 Grants and Contributions Paid During the Year or Approved for Future Payment If recipient is an individual, show any relationship to any foundation manager or substantial contributor Foundation Purpose of grant or contribution status of recipient Amount Name and address (home or business) a Paid during the year UNIVERSITY OF GREAT FALLS 1301 20TH STREET S GREAT FALLS MT 59405 NONE PC EDUCATIONAL SCHOLARSHIP 9,000. UNIVERSITY OF MONTANA 32 CAMPUS DRIVE MISSOULA MT 59812 NONE PC EDUCATIONAL SCHOLARSHIP 9,000. MONTANA STATE UNIVERSITY P.O. BOX 172750 Bozeman MT 59717-2750 NONE PC EDUCATIONAL SCHOLARSHIP 9,000. GREAT FALLS SYMPHONY PO BOX 1078 Great Falls MT 59403 NONE PC **EDUCATIONAL SCHOLARSHIP** 3,000. 30,000. b Approved for future payment Total **▶** 3b

JSA 6E1491 1 000

Form 990-PF (2016)

nter gross amounts unless otherwise indicated		vities			
	-	ted business income	Excluded by	section 512, 513, or 514	(e) Related or exempt
	(a) Business code	(b) Amount	(c) Exclusion code	(d) Amount	function income
Program service revenue:			2200000000		(See instructions.)
a			 		
c				·	
d					
e					
f					
g Fees and contracts from government agencies					
Membership dues and assessments					
Interest on savings and temporary cash investments			14	16,041.	
Dividends and interest from securities Net rental income or (loss) from real estate:	 	· · · ·	17		
a Debt-financed property			' 		RESULA *
b Not debt-financed property	1				*
Net rental income or (loss) from personal property.					
Other investment income					
Gain or (loss) from sales of assets other than inventory	<u> </u>		18	-209.	
Net income or (loss) from special events · · ·					
Gross profit or (loss) from sales of inventory					<u> </u>
Other revenue: a b OTHER REVENUE			1	315.	
			- - <u>+</u>	313.	
c					
e					
Subtotal. Add columns (b), (d), and (e)			OF STREET	16,147.	
me No. Explain below how each activit accomplishment of the foundation					
		NOT APPLICABI	ĿE		
		NOT APPLICAB	LE		
		NOT APPLICABI	LE		
		NOT APPLICABI	Æ		
		NOT APPLICABI	JE		
		NOT APPLICABI	LE		
		NOT APPLICABI	JE		
		NOT APPLICABI	JE		
		NOT APPLICABI	LE		
		NOT APPLICABI	JE		
			JE		
		NOT APPLICABI	LE		

10111100011 (20	10)					12/0104		1.0	yyc
Part XVII	Information Regarding	Transfers	To and	Transactions	and R	elationships	With	Noncharitabl	e
	Exempt Organizations					•			

		_			engage in any of the section 501(c)(3) of	_	· -	=			Yes	No
C	organiz	ations?										
					a noncharitable exe							
										1a(1)		X
		er assets			• • • • • • • • • • • • • • • • • • • •		• • • • •		• • • • • • •	1a(2)		X
(1) Sale	es of assets to	o a nonc	haritable exer	npt organization					16(1)		<u> </u>
					ble exempt organiza					1b(2)		X
(3) Ren	ital of facilitie	s, equip	ment, or othe	r assets					1b(3)		<u>X</u>
			_							1b(4)		X
		_			• • • • • • • • • • •							X
					ip or fundraising soli							X
					sts, other assets, or p es," complete the fo						fair m	
٠.	alue o	of the goods.	other a	issets, or serv	rices given by the re	eportina fou	ndation.	olumn (b) should If the foundation	received less	than	fair m	narket
					gement, show in co							
(a) Lin		(b) Amount inv			noncharitable exempt orga			iption of transfers, tran				
								····				
					··							
												
			-								_	
				·								
					····							
		·							•			
c	describ	ed in section	501(c) e follow	of the Code (c	ffiliated with, or related the section 50 (b) Type of o)1(c)(3)) or i		5277			es 🖸	No
						<u>-</u> .	-			-		
							- 					
					nined this return, including a taxpayer) is based on all inforr				est of my knowled	ge and b	elief, it	ıs true,
Sign		sh.	<u>_</u> l	- 01+		ì		,	May the IR	discus	s this	return
Here	K _	mus	043	2000	05/05/2		AVP		with the pi	eparer	shown	below
	Sign	ature of office o	rtrustee		Date	,	Title		(see instructio	ns)? <u>X</u>	Yes	N∘
	<u>.l.</u>	Print/Type prep	arer's nan	ne	Preparer's signature	······································		Date	Check if	PTIN		
Paid		SANDRA N	MURPHY	7	Sandraot	•	4	05/05/2017	Cecx	P012	5220	09
Prepa	arer	Firm's name	► ERI			·	Ú	Firm's		6565		
Use (Only	Firm's address		N. WACK								
	-			ICAGO, I		606	06-178	7 Phone	no. 312-8	<u> 79-2</u>	000	
					 				Fo	rm 99	0-PF	(2016)

11.11.11

ES	11
딘	
-	ii
Q	Ш
Z	ii.
IJ	#
5	ä
5	ii
O	ii
טַ	II
Q	11
A,	
1	ii
•	ii
Н	ii
_	II
Ħ	ii
5	11
7.	ij
—	ï
•	ii
ſĽι	11
д	II
9	ij
6	II.
٠,	ii
Σ	ii
껉	11
ō	н
ŢŢ	11

. CARLSON MUSIC SCHOLARSHIP FUND

CHARITABLE FOR PORPOSES	NONE
ADJUSTED NET INCOME	NONE
NET INVESTMENT INCOME	948.
REVENUE AND EXPENSES PER BOOKS	948.
DESCRIPTION	TAX PREPARATION FEE (NON-ALLOC TOTALS

TAXES
1
Н
PART
990PF,
FORM

CARLSON MUSIC SCHOLARSHIP FUND

NET INVESTMENT INCOME	41. 157. 100.	298.
REVENUE AND EXPENSES PER BOOKS	41. 157. 100.	298.
	ON QUALIFIED FOR ON NONQUALIFIED	TOTALS
DESCRIPTION	FOREIGN TAXES FOREIGN TAXES C FOREIGN TAXES C	

4
0
Н
છ
~
2
\vdash
ı
ω
4

IER EXPENSES	
PART I - OTH	
FORM 990PF,	

. CARLSON MUSIC SCHOLARSHIP FUND

	NET	INVESTMENT	INCOME	1 1 1 1 1	
REVENUE	AND	EXPENSES	PER BOOKS	1 1 1 1 1 1	
		-	DESCRIPTION	1 1 1 1 1 1 1 1 1	

	2.	
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	2.	
	TOTALS	

2

7

OTHER NONALLOCABLE EXPENSES -

₹ :: :

74 m 25, 74

FORM	990PF,	PART	III	- OTHER	DECREASES	IN NET	WORTH	OR	FUND :	BALANCES
=====	======									

DESCRIPTION

TUUOMA

=========

ADJUSTMENT TO BOOK VALUE RETURN OF CAPITAL ADJUSTMENT

1,988. 240.

TOTAL

2,228.

STATEMENT 4



	Number of shares	Share price	Market value	Cost basis	Unrealized gain or loss	Est. ann. inc. / yield at market	% of account
32420450 Carlson Music Scholarship Fund (continued)	und (continued)						
Fixed Income (continued)							
Corporate Bonds (continued)							
Vanguard Short-Term Investment Grade Fund CUSIP: 922031836	4,828.346	10.63	51,406.35	51,769.72	-444.40	1,062.24 2.07%	8.15%
Total Corporate Bonds			\$98,298.41	\$99,841.58	-\$1,732.65	\$2,474.48 2.52%	15.57%
Floating Rate							
Eaton Vance Floating-Rate Advantaged Fund CUSIP: 277923637	2,554.709	10.83	27,790.42	28,260.00	-592.50	1,397.43 5.05%	4.40%
Total Floating Rate			\$27,790.42	\$28,260.00	-\$592.50	\$1,397.43 5.05%	4.40%
High Yield							
Vanguard High-Yield Corporate Fund CUSIP: 922031760	6,289.567	5.83	36,849.18	36,823.29	-155.11	2,012.66 5.49%	5.83%
Total High Yield			\$36,849.18	\$36,823.29	-\$155.11	\$2,012.66 5.49%	5.83%
International Bonds							
Templeton Global Bond Fund/United States CUSIP: 880208400	2,505.819	11.96	29,969.60	32,680.00	-2,710.40	771.79 2.58%	4.74%
Total International Bonds			\$29,969.60	\$32,680.00	-\$2,710.40	\$771.79 2.58%	4.74%
Total Fixed Income		**	\$220,160.55	\$225,380.03	-\$5,755.57	\$7,182.07 3.27%	34.84%



	Number of shares	Share price	Market value	Cost basis	Unrealized gain or loss	Est. ann. inc. / yield at market	% of account
32420450 Carlson Music Scholarship Fund (continued)	p Fund (continued)						
Equity							
US Large Cap Equities							
Alphabet Inc Cap Stk CI A CUSIP: 02079K305	1.00	792.45	792.45	779.07	13.38	0.00	0.13%
American Express Co CUSIP: 025816109	65.00	74.08	4,815.20	4,426.82	388.38	77.35 1.61%	0.76%
Apache Corp CUSIP: 037411105	25.00	63.47	1,586.75	1,149.95	436.80	25.00 1.58%	0.25%
Apple Inc CUSIP: 037833100	00:99	115.82	7,644.12	4,927.21	2,716.91	147.18 1.93%	1.21%
Baker Hughes Inc CUSIP: 057224107	83.00	64.97	5,392.51	3,912.56	1,479.95	56.44 1.05%	0.85%
Berkshire Hathaway Inc CI B CUSIP: 084670702	17.00	162.98	2,770.66	1,320.85	1,449.81	00:00	0.44%
Bristol-Myers Squibb Co CUSIP: 110122108	45.00	58.44	2,629.80	1,663.06	966.74	68.40 2.60%	0.42%
Celgene Corp CUSIP: 151020104	52.00	115,75	6,019.00	3,517.01	2,501.99	0.00	0.95%
Chevron Corp CUSIP: 166764100	20.00	117.70	2,354.00	1,574.20	779.80	85.80 3.64%	0.37%
Cisco Systems Inc CUSIP: 17275R102	134.00	30.22	4,049.48	2,238.16	1,811.32	132.66 3.28%	0.64%
Citigroup Inc CUSIP: 172967424	138.00	59.43	8,201.34	5,996.54	2,204.80	57.96 0.71%	1.30%
Costco Wholesale Corp CUSIP: 22160K105	16.00	160.11	2,561.76	1,115.81	1,445.95	28.00 1.09%	0.41%
EI du Pont de Nemours & Co CUSIP: 263534109	36.00	73.40	2,642.40	1,723.66	918.74	54.72 2.07%	0.42%
Emerson Electric Co CUSIP: 291011104	45.00	55.75	2,508.75	2,183.39	325.36	85.72 3.42%	0.40%

continued on next page Page 7 of 20



N	Number of shares	Share price	Market value	Cost basis	Unrealized gain or loss	Est. ann. inc. / yield at market	% of account
32420450 Carlson Music Scholarship Fund (continued)	ontinued)						
Equity (continued)							
US Large Cap Equities (continued)							
Exelon Corp CUSIP: 30161N101	80.00	35.49	2,839.20	2,673.17	166.03	101.12 3.56%	0.45%
Exxon Mobil Corp CUSIP: 30231G102	36.00	90.26	3,249.36	2,706.40	542.96	107.28 3.30%	0.51%
Facebook Inc CUSIP: 30303M102	9.00	115.05	1,035.45	1,054.17	-18.72	0.00	0.16%
FedEx Corp CUSIP: 31428X106	17.00	186.20	3,172.20	2,416.47	748.93	24.65 0.78%	0.50%
Ford Motor Co CUSIP: 345370860	246.00	12.13	2,983.98	2,812.56	171.42	147.60 4.95%	0.47%
General Electric Co CUSIP: 369604103	86.00	31.60	2,738.24	2,070.81	646.79	79.98 2.94%	0.43%
Gilead Sciences Inc CUSIP: 375558103	54.00	71.61	3,866.94	4,235.36	-368.42	99.36 2.57%	0.61%
Jacobs Engineering Group Inc CUSIP: 469814107	53.00	57.00	3,021.00	2,678.50	342.50	0.00	0.48%
JPMorgan Chase & Co CUSIP: 46625H100	108.00	86.29	9,319.32	3,961.90	5,357.42	198.72 2.13%	1.47%
Lowe's Cos Inc CUSIP: 548661107	34.00	71.12	2,418.08	2,362.93	55.15	42.84 1.77%	0.38%
McKesson Corp CUSIP: 58155Q103	33.00	140.45	4,644.09	4,072.39	562.46	36.96 0.80%	0.73%
Microsoft Corp CUSIP: 594918104	79.00	62.14	4,909.06	2,509.49	2,399.57	116.13 2.37%	0.78%
Mondelez International Inc CUSIP: 609207105	69.00	44.33	3,071.88	1,698.59	1,360.18	49.68 1.62%	0.49%
NIKE Inc CUSIP: 654106103	46.00	50.83	2,346.46	2,420.24	-82.06	30.36 1.30%	0.37%

continued on next page Page 8 of 20



	Number of shares	Share price	Market value	Cost basis	Unrealized gain or loss	Est. ann. inc. / yield at market	% of account
32420450 Carlson Music Scholarship Fund (continued)	(continued)						
Equity (continued)							
US Large Cap Equities (continued)							
PepsiCo Inc CUSIP: 713448108	35.00	104.63	3,688.39	1,354.50	2,307.55	103.60	0.58%
Procter & Gamble Co/The CUSIP: 742718109	24.00	84.08	2,017.92	1,519.46	498.46	64.10	0.32%
Qualcomm Inc CUSIP: 747525103	65.00	65.20	4,238.00	4,501.56	-263.56	134.55	0.67%
Roche Holdings Ag Spn ADR Each Rep 0.25 Genusschei(Bny) CUSIP: 771195104	116.00	28.53	3,309.48	3,105.76	203.72	118.09 3.57%	0.52%
Schlumberger Ltd CUSIP: 806857108	28.00	83.95	2,364.60	1,486.08	864.52	56.00	0.37%
Skyworks Solutions Inc GUSIP: 83088M102	60.00	74.66	4,479.60	1,509.00	2,970.60	64.80	0.71%
Starbucks Corp CUSIP: 855244109	44.00	55.52	2,442.88	2,685.28	-242.40	37.40 1.53%	0.39%
Target Corp CUSIP: 87612E106	56.00	72.23	4,044.88	3,284.84	760.04	129.92	0.64%
Union Pacific Corp CUSIP: 907818108	36.00	103.68	3,732.48	2,860.68	871.80	81.18	0.59%
UnitedHealth Group Inc CUSIP: 91324P102	26.00	160.04	4,161.04	1,465.32	2,695.72	61.75	%99.0
Vanguard 500 Index Fund CUSIP: 922908710	80.256	206.57	16,578.48	14,959.90	1,618.58	334.59 2.02%	2.64%
Wal-Mart Stores Inc CUSIP: 931142103	20.00	69.12	1,392.40	1,274.10	108.30	40.00	0.22%
Walt Disney Co∕The CUSIP: 254687106	52.00	104.22	5,460.00	2,450.01	2,969.43	77.48 1.43%	0.86%

continued on next page Page 9 of 20



	Number of shares	Share price	Market value	Cost basis	Unrealized gain or loss	Est. ann. inc. / yield at market	% of account
32420450 Carlson Music Scholarship Fund (continued)	und (continued)						
Equity (continued)							
US Large Cap Equities (continued)							
Wells Fargo & Co CUSIP: 949746101	70.00	55.11	3,857.70	3,276.63	581.07	106.05 2.75%	0.61%
Total US Large Çap Equities			\$165,351.33	\$119,934.39	\$45,267.97	\$3,263,42 1.98%	26.16%
US Small/Mid Cap Equities	,	!					
DFA US Small Cap Portfolio CUSIP: 233203843	536.076	33.84	18,140.81	17,460.00	680.81	184.95 1.02%	2.87%
Vanguard Mid-Cap Index Fund CUSIP: 922908645	93.278	162.94	15,198.72	14,347.05	851.67	220.32 1.45%	2.41%
Total US Small/Mid Cap Equities	,	s	\$33,339.53	\$31,807.05	\$1,532.48	\$405.27 1.22%	5.28%
International - Developed							
American EuroPacific Growth Fund CUSIP: 29875E100	453.847	44.97	20,409.50	18,889.11	1,520.39	314.52 1.54%	3.23%
Goldman Sachs International Small Cap Insights Fund CUSIP: 38144N593	1,331.196	10.40	13,844.44	14,030.81	-186.37	386.05 2.79%	2.19%
Harbor International Fund CUSIP: 411511306	346.30	58.41	20,227.38	18,839.05	1,388.33	402.75 1.99%	3.20%
Total International Developed	· · · · · · · · · · · · · · · · · · ·		\$54,481,32	\$51,758.97	\$2,722.35	\$1,103.32 2.03%	8.62%
International - Emerging Mkts							i
DFA Emerging Markets Small Cap Portfolio CUSIP: 233203611	636.157	18.55	11,800.71	13,970.00	-2,169.29	298.36 2.53%	1.87%
Oppenheimer Developing Markets Fund CUSIP: 683974604	643.774	31.96	20,575.02	24,931.49	-4,356.47	147.42 0.72%	3.25%

continued on next page Page 10 of 20

	Number of shares	Share price	Market value	Cost basis	Unrealized gain or loss	Est. ann. inc. / yield at market	% of account
32420450 Carlson Music Scholarship Fund (continued)	nd (continued)						
Equity (continued)							
International - Emerging Mkts (continued)							
Vanguard Emerging Markets Stock Index Fund/United States CUSIP: 922042841	683.096	29.78	20,342.60	24,464.80	-4,122.20	510.27 2.51%	3.22%
Total International - Emerging Mkts			\$52,718.33	\$63,366.29	-\$10,647.96	\$956.05 1.81%	8.34%
Total Equity			\$305,890.51	\$266,866.70	\$38,874.84	\$5,728.06 1.87%	48.40%
Alternatives							-1,
Commodities							
DFA Commodity Strategy Portfolio CUSIP: 23320G463	2,297.416	5.99	13,761.52	13,234.36	527.16	73.68 0.54%	2.18%
Total Commodities			\$13,761.52	\$13,234.36	\$527.16	\$73.68 0.54%	2.18%
Real Estate/REIT							
Principal Global Real Estate Securities Fund CUSIP: 74254V273	2,161.457	8.65	18,696.60	19,467.18	-770.58	637.63 3.41%	2.96%
Total Real Estate/REIT			\$18,696,60	\$19,467.18	-\$770.58	\$637.63 3.41%	2.96%
Total Alternatives		and the second s	\$32,458,12	\$32,701.54	-\$243.42	\$711.31 2.19%	5.14%
Total for 32420450 Carlson Music Scholarship Fund	rship Fund		\$631,960.85	\$598,377.40	\$32,875.85	\$13,846.14 2.19%	100.00%